
Séquence de Nombres Linéaires (B)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 616 516 416 266Différence commune:2. 917 892 867 817 792Différence commune:3. 1000 800 700 500 300 200Différence commune:4. 550 555 560 565 570 575 580 595Différence commune:5. 160 170 180 185 190 195Différence commune:6. 443 438 433 423Différence commune:7. 320 315 305 290Différence commune:8. 745 735 725 715Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (B) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 616 566 516 466 416 366 316 266 216 166Différence commune: -502. 917 892 867 842 817 792 767 742 717 692Différence commune: -253. 1000 900 800 700 600 500 400 300 200 100Différence commune: -1004. 550 555 560 565 570 575 580 585 590 595Différence commune: 55. 160 165 170 175 180 185 190 195 200 205Différence commune: 56. 448 443 438 433 428 423 418 413 408 403Différence commune: -57. 325 320 315 310 305 300 295 290 285 280Différence commune: -58. 755 745 735 725 715 705 695 685 675 665Différence commune: -10Mathslibres.com


